1+ perereent thinking is characterized

(1) Following 4 ste
i p-by-st
} approach in Prﬂblﬂn-mlfi;!.np
(2)  Finding the g
i 5, single core

) i dodnegmagical rensoning
4) g-e&f:sht?nﬂhjﬂ: solutions
o5 wdtss oo
(1) 3553 302008 Fdme o8
DT eleiSenio,
(2)  S2o3% oy gy 202, oo
Sohtata,
(3) oo ¥2dss, IS edtssed
S8 e,
@ HEOI e 303mows dor
eE e e,

2. From the following, the nting
style that is characteri by high
levels of warmth and support along
with clear and consistent rules.

(1) Permissive

(2) Authoritarian
(3) Authoritative
(4) Laissez-faire

308 o Bod, SHRsY Sobcln PRI
Aosred’ s ef¥ Joax edudby,

Boged EndS bhNoge Dosy 30
(1) eSosded

(2) ©O=EINGS

(3) Gorcob

(4) Dé-daxb

k TET-111-EM/TM

(2]

The

own

method that involves gelf-
on and examination of one's
ts and experiences
(1) Observation
(2)  Interview
(3)  Case study

(4) Introspection

LI o8 ed'tho, esigoe
LN ST — 353cF3 s

(1) 208

(2) Sy

@) 5 egam 350

G!ﬁgn N

Gestalt psychology as an approach
to learning emphasizes:

(1) The organization and
perception of information as a
whole.

(2) The role of innate cognitive
structures in learning,

(3) The importance of
observational learning and
modelling,

(4) The influence of
environmental stimuli and
rewards on behaviour.

ABE Drod egsh dlmoor A3

e,

o0 o

(8) w8Bemiy wggine, ssarme
S

(4) @ogap  sony  abnves,
pineisboe Sere
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5. A child s denied

- admission into | 6. According 1o ’ -
m“l: :.1}:1;}:1 nmhhuummd school Peda r.,.,:{ﬁft;_‘r?ﬁa Critical
. elhrr nct of school is make ll'ﬂirnd.'.,_- *  mu trr:-.'l,.- o
PPTopriate as per the RTE Act, lons in this way
‘1) The school can deny admission 'y ::um:nh " * of intelligent
I-; free and compulsory
®ducalion 18 recommended (2
| Pr ! through open g
2 only upto Frimary Lovel mmmuﬁr'm and
(2)  'The schoal can deny admission Lradhub
ax the child 15 not meeting the (3

standards of the schoal
(3) The school cannot deny

by following inat
¥ : ng ructions of a

admission as the child ; reading textboo

entitled for fr-: ll::E ot R o -

com plulunnr tl-_w:h.l«:Enl tion till NCF &

completion o ementary - 2005 2o, "-T-Fl-‘qﬂ‘! [y~

Education. RlE Mgaires bioadten Lot e
(4) The schoal can deny the e Do slusen,

adoussion as  the  child
.  approached the school in the

middle of the academic year. ) BES Ioten whdame pmce
LY Dodd o s Swed' VIN @

BONGS i Lowsbotwded. RTE BinSel S, Bt el
Sge, 2009 @mte v 3 QoSte o ——
S50t st 25 Bodod,
(3) ﬁ?lmu.}' s
(1) &b SoBcn ol I8 Doy - Wu::.
doa 6B Srpds o, :
Scopdiosod Mve ey
(4)  Sopimoss Soute
OG5, Bosatn. 5.

(2) Demss Svo  SErerome
sONdscses  Dvwe Bl
&b:)bﬁa;b:q}

:uaua o5 gy 80

—— Dpok: 408 S0din ol M5
ol dolsd e Sdey
Doadonons.

4) Doy nosbye B bomds
dopodt Loseks SHPesos
Somo wlavn, O59,0o5Ety.
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The RPWD Act, 2016 stands for-
(1) Rehabilitation and Promotion

of Well-bei :
2016, ing of Disabled Act,

Rights of Perso !
Disabilities Act, EBIEIF i
Rehabilitation and Protection

of Well-being of Dj
2016, ing of Disabled Act,

Rights and Privil _
being of Disabled Act. 2016
RPWI; 450, 2016 eodl:

TOEESS wol maons of
26-boazek (T2 dh-ﬁm& :f:
2:::_15 v
S8y &5 35y, 28 aB0084S of,
gmﬁ 2

FOOSRS ol S el
SE-booxk o Ak of
2016
Oen woll 20380 o) 28-bawsel

&dwel of, 2016

Project-based learning encourages

students to:

(1) Memorize information for
standardized tests,

(2) Listen passively and take
notes during lectures,

(3)

(4)

(2)
(3)

(4)

(2)

(3)

4)

Work independently without

collaboration or teamwork.

Develop and apply knmrladf!

to  authentic, real-world
situations.

B30 60l sypte Iotpes

Qe Poimied,

(1)

(2)

(3)

BOOKLET

From the following, identify the
statement that promotes study
habits of children.
(1) Inefficient time management
and procrastination.
(2) Lack of motivation and
interest in the subject matter.
(3) Preparation of a study
schedule and implementing
without deviation. .
Inadequate access to learning
resources and materals.

300 TR, Loo ofdhs soTeD

Soaralal HTolis Mofoted.

(1) ORIy Bdl Aghe, Towo
oG,

(4]

(2) oo (Dors, wid Sedhnco.
Soon  nEmdhns  sarss

%,Wmm.

10.

(1) efass Sutow, L HT

dotoead® E5disse.

In a teacher-centric paradigm of

organizing learning, the primary

focus is on :

(1) Creating a
environment.

(2) Facilitating collaborative

- learning among students.

(3)

(4)

learner-centred

Promoting independent
learning and self-direction.

Providing explicit instruction
and guidance from the teacher.

adgraio-Solns ', A
Sgslotond (Syloy oyl A

doeod.
) epppv-dodns  sasoess

=0
oo WS egrasy
=s0olb ey Stoss | Hoyivod,
R B gEo, .
ARTHCLD B0l e &Y,
SIEEGNGOR eolonie.

(2)

(3)

(4)




5 Yygotsky's cq

12.

nCept of the

to: Developmen [ZPD%T:I .:r:
D The process of N
e, interactions " A0K
" individug] (5., them i":d
(2) ual lhﬂl.l.‘ht" nto
The range of tasks that
@) an accomplish independes 1 J
guijddm“ Hdgm between, ..h.t"" %
o alone
the ® and what
. of md:ldd lttl.n do with '-l“-"ll.'ﬂlp
3 im . of
::Tf“l‘?m;-*nt and punis} :
Y B seem
obEbIteY B3, D
) o> wPopem Sawnons
oo fel.
(3)  bemes wwsim Sconth oo,
DE0 miraed Scunh oo
2o oy,
(4} ﬁ‘“ﬂﬁ‘ wlﬁﬁa' a!ﬂ
raopB.
Erikson's Psychosocial of 3to 6
years is i::luu-:u:tmrriud by the central
conflict of : _
(1) Initiative vs guilt.
g; Autun;y vs shame and doubt.
(4) Identity vs role confusion.

%sw,smobswm

Syt olre
) m‘*ﬁ-mﬁ"b

[5)

13, thm and m

14.

ﬂ
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infancy is cha m’,:ﬂ;l;pmml in

(1) The devel
Opment of abstract
:}k.fi?lf“ and problem-solving
Rapid brain development and

Buage acquisitipn.

Gross and fine motor skill
development such as crawling
and grasping.

The emergence
AWATeness and
formation.

Feool' mbus, tomud L3 oo

(1) eSormg ool sobas wuen,
Mugwpm

(2) JxSobIon WES Jmwie, P

:5.';:.\3-9:‘.-
m.wﬁmwgﬂ.w;;
DUPBS prTe Lo
PRI~ LRIV, To0ok) Dentese

(2)

(3)

(4) of sell-

identity

(4)

A student of Class VII is following
rules of the school to maintain social

order though not satisfied with the

said rules. The student is in this

level of Kohlberg's Moral
ent.

Developm
(1) Pre-Conventional
Pre-moral

(2)
Conventional

(3)
(4) Post-Conventional

e¥ VII 5 88K0 doof v
dokared gy Dosuwwld, duray
Jpednes:  dodsw¥ T
DOREreHy eNoRliymes. u ol
§%66 20N Devsod’ B Jand s,
(1) Prgg Toporas

(2) Yool

(3) romrdld




_ 15. A child learns to walk

] by falling,
getting up, walking n.ndlg:infnl]i“:g
and getting up repeatedly. The
ﬁ:tmnqple of development involved

is

(1) Spiral

(2)  Cephalo-caudal
(3)  Proximo-distal
(4) Cumulative

LY Demnn BAdsNe, Sunse, nmente
Soleo S8 SaAMsse, dssc oo
SEEL Jopmowme. A I A&
St oo

(1) 380

(2) 36 sy

(3) B8 mro

16. According to Piaget, assimilation

refers to ;

(1) The process of reinforcing
behaviour through rewards
and punishments.

Incorporating new information
into e::istitnl:‘ment.ll schemas.
Modifying existing mental
schemas to accommodate new
information.

The process of observing and
imitating others’ behaviour.
DA Bevc, Movitee 800 3300,
(1) wiodsboss, o OuCr BOGRRS
Ppesio 3 edass,

£ SSrool g & Soth
parod Shse, |

0 Surronl elofomor zhd
a5 S Iy Srei SSlodto.
FOte EOgNRe Moved waslod
EREES

(2)
(3)

(4)

(3)

(4)
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17.

18,

BOOKLET

The Non-directive approach of
counselling was the contribution of :

(1)  Carl Rogers

(2) Adler

(3) Jung

(4)  Sigmund Freud

TRy Loo[bes AlMEc0 D0 RO
1) =f ek,

@ o6
(3) el

4) el Dok

A teacher assesses different aspects
of dlt'l:ldl:ﬂtl' development like
conduct, interest, personality, gross
and fine motor abilities, learning etc.
In this case, the teacher is assessing
the development of the students in
these domains 1

(1) Cognitive & Affective.

(2) Cognitive & Conative.

(3) Cognitive, Psycho-motor &
Affective.

(4) Affective & Psycho-motor,







23. The spiral curniculum suggests that
(1) }(]‘n:_wgpu and topics should be
:-pws:wd and built upon over
ime,

(2) Leaming should be organized

'n & linear and sequential

manner.

(3)  Instruction should focus solely

:l?.i 1Lt=:|w dcquisition of basic

(4)  Teachers should : vide
detailed explanations and
demonstrations.

@) 5% 2y 3yene S
MBS St D,
) oo SSUrPBN INbn,

Soliei vclomd,

The Eleme nts

based un  students’
gmrﬁ:r_mmm during class room
' (2)
(3)  Reacting to
immediate needs and
. inlerests,
(4)  Following u rigid and fixed
lesson plan.

eaching.

Setting objectives, selecting
%S Cerisst &y wore Dodien
ot

of Planning in
teaching include: _

) Imiplementing instruction
lmmrn » and  organizing
CArnINg exXperiences.

Ao students’
1) 555 egus ssaied’, oo
RN wprtor SRENE efve

(8]
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25. A well-planned lesson hull!l‘eld“
to:

(1) avoid the need for formyy;
assessments and feedbacl “.

(2)  mainte 5 strict contrg] and
discij. ae in the ¢l 1

(3) ensure that all studenty

scores, :
(4) facilitate student engagement 1
and active learning.

FSoUEeis Diarotoes,

) dovytpoostr bRy FEe,
ritetic Dpoder Jodotsets,
Sovtce Do bNs, LN

@ BgSIY, oo Sainen,

26. An attribute of a good facilitator in
(1) hlﬁ.muol and discipline in
(2) Empathy and understanding

of students’ individual needs,

(3)  Strict adherence to a fixed and
inflexible teaching style,

(4)  Promotion of competition and
comparison among students,

%556 Sood PBBLE eite

(1) mmﬁ'mm
Sz,
2) doptze AN eSBovess




(4) @'Is usoodt 5!:5 nl_.‘[;
@ﬁﬂao&:’.o

This type of fi ing occurs when
new flormation ners wih e
information. peoTieny

(1) Retrieval falure.

(2) Retroactive interference.

(3) Proactive interference.

(4) Decay.

noost By SSOTOR Y
daswes’ g 80
Tomnmess e O¥SS )0

(9]

learning

s Iversity in  learning

Lh;h‘fm'“m}‘ of contexts and

s }:"’ﬂl‘f'l motivation
Previous experien d
knowledge in both m:rcm‘_n
BORS picoss iyt oo BXs g
2D e

D) o et 3050
@) Joyes, Sesoye fy; darso
@mﬁ%me,{ﬁ

Individualized Educational
(IEP) 13 an educational
| that :

(1) Focuses exclusively only on the
academic achievement and
test scores.

(2) Provides separate educational
plan based on child's speaal

and

needs,

(3) Excludes children with
disabilitics from the general
education system totally.

(4) Aims to design common

instruction and environment
to meet the needs of all special
learners present in a class,

goddesef dodgd el (IEP)
ol 5 ditioo
(1) 2% hes, Joy Sages OND

(2)

3)

(4) oenodt ey B8 vpEieid

-



PART - 11 : TELUGU (Language - I)

o83, Soo & P

(1) Ewm;emg

2 3¢ ubaired
doame

Sameaise,

(3) WWWW

(4) -ﬁ-e-t.'m.'.'rm,eaua

(1)
(2) =50
s
(3) Mg
4) &

Sees metict 42 s
(1) mEpsy
(2) ﬂ'c,,‘f,g-nn%l;!n

(3) S50 Miea su3a
(4) Moume O3

S50, Mook S
(1) ey
(2) e

4 oy

'O 308 g
(1) g»ras
(2) Is%se

(3) s
(4) o

(1) Ppotbac

(2) Tyaoe
(8) %8

4) wros
DR’ SO 33
(1) >
(2) gl -
3 2o

4) &5
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e B8 Brlel.! H1 DEo D mpog
éoly

(1) BIY, oo

(2) oo
(3
(4) oo

(4) ®e
o =08 S ooz -
P5od' Aol wide D 2¢d
daspoed,

(1)  Sesds d¢d :

(2) 330 gl

(3)
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(71-74) )

The value of L
value a d-‘-.m P
cut. The size of a aj.mm"?f * based on four festures . carat
carat and 142 carats in an Measured by carat wight :E' ngers clarity and
Hﬂlﬁﬂlbc]uw one m“:haldamtm?&r are 100 points in a

. : : at is more
PeT point than g gt 'lﬂl:ht'm:h weights more :}:n valuable than,

The clar: diamond
ﬂ“llndm;.;lorm:rhw hﬂmmmﬂmumn-m.mnu
mm“m“mm‘%-mmhﬁ-immmmhm
Bemologists use ial i Wﬂmdﬁm with unaided eye. However,
speci lhll-rmn{imrltlldhmmd'lduitr :
Thaﬁmlehnmﬁc i .

71. The term ‘carat’ is associated with -

73. The word ‘reflection’ in the passage

s . refers to :
(1) The process in which light

(2) The by which light is
(3) brigh sent Elck. ;i
(3) The process in which light
(4) cut bends. - i
(4) The process in which light is
separated into ifferent
colours.

72. According to the passage, the elarity | 74, These are invisible to the common
diamaond is not affected by : human eye and we cannot assess the
brilliance of the diamond with

spots, inner flaws and

(2) Carbon spots and inner flaws.
(3) Carbon spots, inner flaws and
(4) blemishes cuts.

(4) Carbon spots and cuts.

TET-111-EM/TM s



We didn't meet hum for many years. | 80. What th
S T!:u underlined part has to be makes ese  holes? Ihe

St s mtmuunbewﬁthn..» '
repla 1
(1)  will not have met ' @) m:"mmm?
(3) __hasn't met t » I“F'M?

e gy

bl

81. 'Ihdnldranhldhd:twphm
_;i.:u.nndtunh_mmuld I The sentence can

) Hmnidth-tthudﬂldru
: hhﬁuphm
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o Q; / 5005:&:1‘ @
yART v: mﬁﬂ’smncs" CONTENT
1. 'ﬂu:{m day time te tu f = £ ‘ !
a city in a week -mreo;nrszlu;.‘g g s 1 69 _-_'%T'.'!F-’B_
28°C, 27°C, 31°C, 29°C, 28°C and 14
28°C. Then, the average LE)
temperature of the week in that city 50 ﬂ
is:
¥ SN0eS' LY oy HOR Sogrsmy
afrses Saonm 25°C, 28°C, 27°C,
31°C, 29°C, 28°C S:8a32 28°C m 1 ) 65 v
SANE e, o Ked ¢ prodt @ I %— &
o wioluas ® /—7;@
(1) 25°C W 1 :
: 3 (4) 14
* (2) 26°C ?‘L‘:' ) 4 9__",_8"" - !tvx
2C O o
(4) 24°C 0 g 95. Ina proportion 2;8 =6 x. Then, the
DA value of x is:
92, Il'mnddﬁtntnfice-number we
get 51. Then, the number is: LY etoS>nedt 2 : 8 = 61 x vod, x Dasd
L3 Sopr Dgoy B 5 ¥0LS 51 mised. 1) 48
mﬂﬁu:&am‘
(1) 46 O >1+5:-9) @
%::i o W~ 3) 2
@ 22 23 “fgf (4) 12
Qo 5)_
83. The number with which 3% should
be multiplied so that the product | 86. The number of vertices in a
becomes 729 is: _kaleidoscope is:
87 2 S Sop 8t rort§ oo 729 S50 DADRH 56" dcd woiios Sos;
6
(s R & (1 6 '
g 'q
(2) 3 (2) 4
; ik
gt (3 8
s -
78 %’:51 =
\
TET111.EMTM '~ 0
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97. Which of the I'nllawing is N ®
Prime Number? oT a 101,
R A cloth merchant bought a roll of
— T8 o ss0s; g Sao 'i;‘:,“;&dgh Fflength 120m, He sold
(1) g3y — in the roll g ¢ 1oth. The cloth left
(1) -
(@) &%mm : o\
(3) 37 (3) 70m Odem
(4) 43 . (4)  80m 96¢cm
LESI 0 120 8o, B Fie 3na rogsss
98. The Loy B 2008 40 B, 96 Doty
: of two numbers js 1 SR, gow 2onS Tos B
their product is 3888, Their ucp'?.d; (1) 605:.0&'-'0&23 %
ol Somo v. 0. 16 Solctias e (2 602 96 3,
3888 sl ;v Ro.gm, 2 v
(1) 48 M @
(2) o8 ﬂ-'"u iid 102, Which of the following is a FALSE
statement relating to data handling?
oy ¢ (1) The central angle of each
(4) 164 sector in a pie chart is
@,ﬁ."‘ inversely proportional to the
\;7’ quantity that it represents.
99. The average of 4.4, 3.6 and 7.9 is: e merical entriea in the
4, 9 oY), Somss (3) The arithmetic mean always
- 12 . RY B Eotviis ﬂumhighut and
53 G\ lowest observations of the
( 7 ““ﬂ lp dltl.
2 5:9 @ “-% ?\o\ (4) Bimodal data contains two
(3) : modes.
(4) 4.4 ‘7% 308 ;OE* Sorot MmN Nenedods
“ /&) Vo 6 %0 02 &
100. The percentage increase in the area ™ HG{G'DO Sg ?;_Mm ﬁﬂ’
of a square, if its side is doubled, is: ’
£ SEoUe duol), gome EY Tols Dess. (2) ﬁ;cg Ersedt 5328 davong
3% on pweed’ SibSe To SErou, HOVCHE: Lo,
i @ (3)  wo¥ Bagoo JoipEr Soro¥e
(1) > S, B8 E0GkD e S
(2) 150% B0 S0l Soisel
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MATHEMATICS METHODOLOGY

115. Match the following mathematics

Resources and Activities:

Resources Activities
A Mathematics | i. Showing by
Library cutting and
pasting paper
that
and alternate
angles are

21

116. Read the following statements :

Bemeal, T e 8
xi it can i
needed, Y%

Statement Il : The evaluation will
be static, whereby the results will be
in the form of a pass.

Choose the correct answer:

(1) Both the statements are false.

(2) Statement [ is true and
Statement I is false,

(3) Statement I is false and

Statement 11 is true.
(4) Both the statements are true.
B0 Typetn BEhod.

sl SoBoip SOIRRS, ensow
oy 830 sroy IESond boom
eocsel. .

Ty Il Soroyosie hudsnom
Eried® doumaas,
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PART - V : ENVIRONMENTAL SCIENCE - CONTENT

* following is NOT a factor | 124. In humans the inhaled aj
o E;‘n:nziifj;llut?u*l:?g L - the nasal uvit.; into uu:”' Boes from
(1) Biodegradable wastes (1) Pharynx
(2) Heat (2) Bronchus
{(3) Sediment (3) Trachea
{(4) Chloro Fluore Carbons (4) Llw
(1) _ssSowod Soras - Dnte
(3) u
W S s 4 Mg
122. Identify the non-renewable e (4) Sobay
following,
125, . from upper
part of this chamber of human heart.
(1) Right auricle
(2)  Left auricle
o (3)  Left ventricle
% SRte (4) Right ventricle
' SIUYT K0T Mo, e MO B gl Hood
VR G0 mabusdoteos,
(1) &%y
2)  deuowgy
(3) &5 msoy
mmd:m from (4) 24 osoy
er to outside the
i P2 [ 1ag ;I;h;ﬂaﬂmmtin saliva.
(2) Malpighian tubules pase
(3) Urethra (2) Ptyl.lm
(4)  Renal tubules (3)  Pepsin
sped’ &) oo Samoraino sl @) Trypsin
SeBo B HSgoSHEIes, oouooé' dal 2opks
(1) S ™oses (1) zh&
(2) mh8ci:E ones (2) oads
® oo
1) 25 o OIS
f



Poc edfmmﬂrdeu
h l_hich, travelleq ::Gu
(1) West i
(2)  North e
3)  South
(4)  East
xX pEounE ‘

2ol R sea

Sairtionan. &28%e, X &, e
(1) SESE )
(2)  &yto
3)  &dee
(4) L2 O

128. The Toll Free Number 1098 is
related Lo :
(1)  Women Helpline
(2) Traffic Help Line

e (B)

129. The parliamen

laws on these “:.h;l;.m e
(1) A,pimlt.tsu. H;up‘il-l]l
NENhe rulee :
relating to the tm
n-:lri-y A
ya idyala

%3 Iy- vas and
Irrigation, Police and Health
o SRRl Mo 1mels Sepeso
Sipel,

1) Sadawe, ewsoes sobaks
5o

and

(3)
(4)

(2) OOP5 ssbaxs M8 nanws
wmm‘?’“

Joolies

DETous 24
(4) Dedoose, e Sedans wih

~olgn

130. The Shop Keeper breached an

agreement with ".’ﬂ:d““" -
Elm-.h.nu of goods. customer

led the civil case sgainst the
and was not happy with the

Judgment given by the Junior Civil
Judge at Divisional Level. Then, he
can make an a

in this court.

24

[25)



131. Identify the modified root from the
following.

(1) Turmeric

(2) Potato

(3) Sweet potato
(4) Ginger

I s
(1) =y
{ ey

(3) Donzssed

(4) woee

132. This
'Pelllrl
(1) Niacin
(2) Folic acid
(3) Blotm
(4)

’

133. ‘In angiosperms fruits’ develop from :
(1) Emrbyo sac
(2) Owvule
(3) Embryo
(4) Ovary

e

(1) bosshe
(2) weo&o

(8) bese

4) eoco¥die

TET-111-EM/TM
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134. The number of canines in an adult

human having 32 teeth.

32 Zoorey &y 2% SIWYOE cetve
::‘; s S
.m" kot
@) 6 i e
4) 8 & 96 ww

135.
The most :.hundlnt Eas in the
(1) Carbon dioxide
(2) Oxygen
(3) Nitrogen
(4) Hydrogen
Toutned’ sipom efod sy
(1) =S ca3 8
(2) wdeS

(4) el

136. The following disease is transmitted
through air.
(1) Dengue
(2) Tuberculosis

(3) Cholera
(4) Malaria
$o2 D& MO e ol D
(1) orn,*
= e
L)

(3)

(4) :s%

(28]



(4)

e ol UN S35, 1089 meve,

) i

(3)

(4)

138. King Ashoka, the Mouryan emperor,
appointed these officers to solve the

SReio  StgSe  Bowstace
wlcin Eoole Mlol wumins
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140. In 1019, the British Government
the

passed Rowlatt Act. It
empowered the British Government.

(1) To arrest the people who broke

the salt laws.

(2) To declare independence to
India.

(8) To arrest anyone without
warrant and imprison without
trial.

(4) To support the Khilafat
Movement.
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{dentify the visual teaching aid from
the following.

(1) Computer
(2) Television
(3) Film strip
(4) Radio
a0 et ST send, 10805

sogmesd
(2) o0oes
) », 5‘ ii Fi

er=tev by
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(1)

(4)

148. This is a child centred teaching
method.

(1) Historical method.

(2) Lecture method.

Lecture cum demonstration
method.

(3)

(4) Heuristic method.
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teac ey know the strengths an
uselkn”m of the students. s
W Prognostic evaluation. £
(3 Diagnostic evaluation.
((3) Formative evaluation
gummative evaluation
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